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©OKitahara Masayuki Kuramochi Shinnosuke Suzuki Kenji

Ryugasaki 1t Htigh School

Shirahata Jankyu 1 Mathematical Fart Sakai Manae  Sakae Rea
How to answer the interest and the principal

The original

Keyword
- silver
* Interest
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Quotation
Isomura Yoshitoku(1659) Sanpouketsugisyo Bunka first year(1804)ver.
Nishida Tomomi(2010) Edosyokiwasansensyo 101 Sanpouketsugisyo
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When silver 300mcku gre lent to two people, one
person put the interest to twenty percent and a half,
the other one put twenty percent.

How much does need to lend two people a same
silver?

Answer Silver of two percent and half 1s 133.333....

Interest 1s 33,333....

Silver of two percent 1s 166,666 ... ,interest 1s
33,333....

What 1s the order to know silver of two percent. If
you divide twenty percent and half

by twenty percent. You will get 1,25. And 1soku
make and 1s°<umake 2.25 divide by 300,this will be
the money of twenty percent and half 300 minus
money of two percent and half 1s money of twenty
percent.

In the above method, i1f you devide two percent and
half by two percent, we see two percent as 1,two
percent as 1.25 and recalculation. In accordance
with 1 and 1.25 interest will be same.

Two percent half divide by two percent 1s 0.8,0.8
plus 1 1s 1.8 divide 300 can understand money of
two percent 1.8 first.

Each money multiplied by each percentage can
understand each interst.

Content of mathematical

If 1t replaces the principal of 25% with x, the value of one 1s 0.25x.
Also principal of 20% is 300-x and value of interest is 0.2(300-x).
If these two equations are equal, 1t 1s right.

The equation is 0.25x=0.2(300-x).

It solves this equation.

0.25x=0.2 X 300-0.2x

X(0.25+0.2)=0.2 x 300

X(0.25+0.2)/0.2=300

X(0.25/0.2+1)=300

2.256x=300

X=300/2.25

X=133.333

It substitute x=133.333 for 300-x.

300-133.333=166.666

Accordingly, the principal of 25% 1s 133moku and principal of 20% 1s
166moku.

Person in change: Kitahara Sakae

Comparison between Edo and modern prices

In the early Edo period, Keicho Koban 1¥°
=gold4.2menme (15800mg)

=about one hundred thousand yen
Person 1in charge: Suzuki Kuramochi — —gilver5(Qmonme

=money4000men (25.0yen/mon)

In the middle of the Edo period, Kyoho Koban 1v°
=gold4.1monme (15309mg)

—about eighty thousand yen

= silver6(Qmonme

=money4000™°n (20.0yen/mon)

Summary * Impression °
Future subject

In the late Edo period, Manen Koban 1'°
=gold(.5monme (1892mg)

=about fifty thousand yen
=s1lver15(Qmonme

=money10kanmon (5 Qyen/mon)

Summary

It 1s question that to have the same interest to lend
silver with the proportion of different interest to the
two people.

Average

Impression Gold1rye =s1xty six thousand yen =silver60™or™¢ =money4000me»

(16.5yen/mon)

We thought it is very difficult to understand the content of lkan 700Qmenme  —gbout 3.75kg =]syo =10%°

mathematical. ]monme 7 monme =about 3.750¢g =]1to =10syo =100¢°

We think now math is much easier than old one. 1bw 1/1(Qmonme =about 0.375g =] koku =10t =100s¥°

1rn 1/10QQmonme =about 37.5mg —=1]pyo —4to —=4()sy0
1svaku cgrpenter’s square =about 30.3cm =the cloth measure

Future subject 37.8788cm
1sun  carpenter’s square =about 3.03cm =the cloth measure

3.78788cm

)
We think there are many ways of thinking math problems.

We need more thinking power that can think from many
point of view.

Person 1n change: Sakai

Group leader: Kitahara




